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seottlzb / MATHEMATICS
( Tamil & English Versions )
Gy : 2 %mmﬂ | [ Curgs vAuGusTser : 100
Time Allowed : 2 12 Hours | [ Maximum Marks : 100

@iy | Instructions :

i Qeuallarigrer préie LGHest Clareaior g, elCerE ugdliller qpeTaub
Q&rR&siuL Gerer @Pliysaflag eflen_wefsanyb.
This question paper consists of four Parts. Read the note carefully under
each Part before answering them.

1) sraorgmid, TWwssd Hrssurs @riss Gauwmnpn. aloLsamseiu @ sai
ugsenen ( Rough work ) eflengprefien Epiugsllée Opaflarss ariLeamb.
Write legibly. The rough work should be shown at the bottom of the

pages of the answer-book.
) Gareepdle oefssiu@b wvLéms, waCsramaiud S 616 ST & EmET
W HGw LweTURSSaD.
'ﬂm log:ﬂﬂum:: and trigonometric tables issued at the centre alone should
used.

ugd - 2 / PART - A
(nfliCuemset : 15) / [ Marks : 15)
@pliy | Note: ) tugglfles odier uglo@aps oflarssamsesn

s wefldemayb.
This part contains fifteen questions. Answer all the

questions.

) @luiflelle gatarg damalpen, preég wrby oeocss
Seflaasiu’ Qetarar.  suphld sflurer seag Wad
Qur@ssorer ool lloas Cara Celg, wpoas GH&GD
H@ﬁm_g. [ Alphabet ) afleir eraior gHOACE ellenL gz meflc

SpSao.
Each question has four choices. Choose the correct or the
most appropriate one among them and write down the
alphabet indicating the response. 15%1 =15
1. 54,18.6.2, ... a&ip Qupsestsr i aflmsdd Qupse aldsan
The commen ratio of the G.P. 54, 18, 6, 2, ... is

&3 b)

c 2 d)

ey L]

[ Tum over
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2 1+2+3+...+n=
a) "51 bl n{n+1)
nin+1) nin+1)
S iy A e

3. subflén Qurisl Yplugiy
The total surface area of a cone is

a) mnr2l b) =nrl

¢ mril+r) d) %nrﬂfh
4, A'NB'=

ay A'UB! H' caAnBY

¢ (AUB)! d ANB'.

5. A={1,2345}, B={2,346} el A-B=
IfA-{]., 2- 3!'4-5}: B‘{E, 3.4,6} themn A-B is

a {12} b {15}
o {2.6} d {1.6}.

6. m®, m2, m!® e SOuUT.eu
The G.C.D.of m®, m!2 , m!8 is

a m°® B m!®
¢ m!3 d m?3,

7. 18x2y*z!® & eutdsgpebd
The square root of 16x2y%z1® is
a T 4xy2?z% b) * 8xy228
e * 4xy?z%® d = Bxy?z‘.

8. s peiL sreb a@isns Qarsignd ureng et

a Hpder sre et b) Gewé
¢ grapesbs utap dl Blapey.
The path that takes the longest duration is called
a) project duration b] activity
¢) critical path d) event.
Page 1 of 11 For more questions logon to

www.apsira.com/gbank



WWW.APSIRA.COM
Education in India 3 4018

9.

10.

g6 Cariyd Soours gap yereflasr aufiCu aueruiu@d allbsefld
6T T Ut G e
The number of circles that can be drawn through three non-collinear points, is

a 1 b 2
¢ 3 d 4.

PG egTHHer waealtLb 5YV2 m aafld, sgrsdldr ubs Siemey
The length of the diagonal of a square is 5Y2 m. Then, the length of the side is

a) 10¥2m b) 5m
¢ v2m d 10m.
11. 2y=3xeaerp Cpir&Gamine emley
The slope of the line 2y = 3xis
a) 3 b) 2
2
o) % d 3.
12. (8, 2)opobd (4, 6) fu ysielameré Getégd "CpréGar’f gGamgen
mmmﬂqﬂﬁﬁiﬂ
The mid-point of the line segment joining the points (8,2 ) and (4, 6) is
a (22) b) (6.4)
c (4.4) d (2,-2).
13. cos @ = ﬁ aeflé, 0 -afledr Ay
If cos® -l . then the value of 8 is
V2
a 30 b) 45°
c 60° d) 90~
14. L-uuQup wdiy, S - Seég wdoy eeafle alés
If L is the largest value and S is the smallest value, then the range is
a L-8 b) L+S
L+8S L-S
o =S d r+s-
15. §® usoL GHWOD 2 GLLILUED Curwsl, ghop aan HoLés Habssa)
If a die is rolled once, then the probability of getting an odd number is
1 2
a 3 b) 3
1 1
c) 3 d) T
[ Turm over
Page 1 of 11 For more questions logon to

www.apsira.com/gbank



4018

16.

17.

18.

19.

20.

21.

22.

23.
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u@$l - 2| / PART - B
(wduCueimast : 20) / ( Marks : 20 )

etloy [ Note: 1) @Euueddle Gsr@éssiuc@eier ufloampa olaméssefléa
gCagb ua lamésenée LLED alomwusféaab.
Answer any ten from the fifteen questions.

) eler s QupiulL auflpepsst QeTH&sUUL CauamBD,
Show all the steps. 10x2 =20

9, 3, 1, ... aetip Qupses Qeret auflmesldld 7-eug e plenud arens.
md ﬂle ?th. t&l‘m DfG.P; E| 3| 1; T

wEluy sredms + 11 + 12 4+ 13 + ... + 30
Find the value of 11 + 12 + 13 + ... + 30

yptugty 36n gy GeuS. QenaoL. Carengglel meangeneay Hirems.
Find the volume of a sphere, whose surface area is 36z cin 2.
QeustoruiLis suenyas : A— (B C).

Draw the Venn diagram of A-(B N C).

Somagg seomb E={1,2,3,4,5,6,7}, A={3,4,5,6},
B={1,2.3.4}.aafll& (AN B)' pé& arcra.

The universal set E={1,2.3.4.5.6.7}, A={3.4,5.6},
B=1{1, 2.-3.4].Flnd[A nBl'.

(x-2)gag P(x)=2x%-7x+ 6 asip uagpiys Caroaudds oo
SITEUTGD Tardh &ML,

Show that ( x-2 ) is a factor of P x) = 2x2 - 7x + 6.

{xz -9 ] Wb [x3 +6x+9 }%aﬂwmg}gﬁiﬁ S.Gur 1o, srados.

Find the L. C. M. of (x2-9 ) and (x2+6x+9) .

suenTuml : ghussLw ugdl ( feasible region )

Define feasible region.

Page 1 of 11 ; For more questions logon to
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24.

25.

26.

27.

28.

29.

30.

fpsaremid UL gHld x < wflleus arans.
Find the angle marked as x in the following :

SPpéaTamb uLpdlér prefmmer AByb, CDyb eulLgglgueiGer Perdp yereflullé
Qe g &G aTsidlerper. CD st Carl Gpgicnger parsmas arams.
Chords AB and CD cut at P inside the circle as in the given figure. Find the

length of the segment CD.
A l

D

7x -5y = keenrp CpiaGsrLrearg (1, 1) adp ystell auyflursé Ceadlpa aails,
k-t wEly wrg 7
If the straight line 7x - 5y = k passes through the point ( 1, 1), find k.

3x+ 2y + 1 =0 ageigud Crr&aGariyed smia whpb y-& Sée CQuLpsgamH

. &Teus.

The equation of a straight line is 3x+ 2y + 1 = 0, Find its slope and y-intercept.
6 Qe.f. Uss ey QeraL e guhe SpCareauidlgd SOLHS
¢ efieul L fle SUTSmps HrEUS.

Find the radius of the incircle of a regular hexagon, each side of length 6 cm.
37, 39, 33, 46, 48, 52 senndlp yetrefl alaurisense aléas Ceay srauns.
Calculate the coefficient of range for the data 37, 39, 33, 46, 48, 52.

Gy Cprsdér epep pravubsst s lu@b Curg, sflurs Gren@ soessh
gm_ﬂu;mmm HpHHa ETET 7 :

Three coins are tossed simultaneously. Find the probability of getting two heads
exactly.

| Tum over
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u@gl - §) / PART - C
(w@liQueakrsst : 45) / [ Marks : 45 )

@gily | Note: 1) @iueddlé 10 eflaméast 2 srerar. geaiGaung aflamalgd

Eys wrpp eSlerTéast 2 eireren.
This part contains 10 questions each with two alternatives.

1) gaare oflarafllan = ser @@ wrHy olerrésdid
gofloes CoiposPse. Curisd géug omrassnse
eflen_weflés Ceuctr@id.

Choose either of the alternatives in each question and

answer any nine questions.

i) Gpgomawrar @Lésealle Opeaflleurer ugser, uLdiser
Ger@ésiu. Ceucm(Dib.
Steps and diagrams should be shown wherever necessary.
Oxb5=45

31. a odfiyssrams:
400 + 441 + 484 + ... + 1600.
Find the value of the following :
400 + 441 + 484 + ... + 1600.
<yebeugy / OR
b) 3+ 33+333+..adp Qereilé neglyssids sndad srems.
Find the sum of n terms of the serles 3 + 33 + 333 + ... .

32, a 450 swyster o wralildr GHUPMLD bl U Ldds yyhisel
WopGu 28 Gz ., 7 Qs S, sbarallildr Qamsietenancud smeis.

If the radii of the circular ends of a bucket of height 45 cm are 28 cm and
7 cm, find the capacity of the bucket.

Hysveugs [ OR
b) 3 afliLeien deory 20 f <psdlpe Gpramiiu@dlps. Csrekig |
a@&alU_L wedw 1518 o wygpster L Gpft saburs alssiupdpy aafls,
Sl b siredors.
A well of diameter 3 m is dug to a depth of 20 m. The sand taken out 18
heaped into a right circular conical pile of height 15 m. Find the radius of
the conical pile.

Page 1 of 11 | For more questions logon to
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b)

7 4018
56 persde adliuatsd 65% Gur slapb, 52% Guir @ESlyb, 40% ssaisb
Gurir weewretpd Guadprisst. 30% Guir sllapd, Gbdluyb; 32% Gui giflapb
wenewreTapd; 25% Gui @hdlyb, wvoewurerapb; 10% Cui Ehapsin
Qurflameagsely wvhp Curflaemeryb GCusdlprtact eafle, g
Guomflaenenyn Cussp Caflibseuisst assmen ssaizh 2
65% of the people in a city speak Tamil, 52% speak Hindi and 40% speak
Malayalam. If 30% speak both Tamil and Hindi, 32% speak both Tamil and
Malayalam, 25% speak both Hindi and Malayalam and 10% of the people
speak other different languages, find the percentage of the people who can
speak all the three languages.

Séez | OR

GleuaduLtisst apad Flsllés : A-(BUC)=(A-BIN(A-C).
Prove A-(BUC)=[A-B) [ (A-C) by Venn diagrams.

3x%+ x%+ax? + 5x+ b asrgub CGarevey x+'2 Cogbd x— 1 Hfluauppré
Bl sugulire a b g duapiler waiysmend sreans.

Find the values of a and b if 3x% + x3 + ax? + 5x+ b is exactly divisible
by x+2 and x- 1.

2ebevg / OR
x2-2x-8 dx-8B x2-Tx+ 12
& H
SOoOR Xx-2 “x%-4x-12 © xZ-ox+ 18"

x%2_92v_8 4x -8 x2-Tx+ 12
Simplify : x—-2 X X%-4x-12 " x%-9x+ 18"

autsaaped arees : 16x% — 24x° — 31x2 + 30x + 25.

Find the square root of 16x* - 24x3 - 31x2 + 30x + 25.
Sysvevg /| OR

gremeud sTems :Vx+5 = 2x + 3. .

Solve Yx+5 = 2x + 3.

[ Turn over
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36. a) &psaremd SebaLTREDET oy Wwopdd giée :
x-y 2 2
3x+ 2y s21.
( suesTuL gprenen & LGUTHEss Camaildame )
Solve graphically ( without using graph sheet ) :

x-y =z 2
3x+ 2y =21.
Syevevgl / OR
b a6 HLLshdr s Udauporg
Glewe 1-2|1-3|2-4|2-3|3-4|3-5]4-5
&HITEY .aqmiu[@rn'_ﬁéﬂm] 5§ | B 7 6 5 ) 8

) susewenwLUL ULD euenys.

) Froseshs UTOSOUS SIS,

i) S LssTe SjeTensu &HiTes.
For the following table,

Activity 1-2|1-3|2-4|2-3|]3-4]3-5]4-5

Duration indays| 5 8 7 6 5 4 8

) Draw the network for the project
) Find the critical path
iiff Compute the project duration.

37. a g6 &Caraisdled gsrag G Carempgler @G0 Galy,
SiECaramsdlen agiftusasams, Corampdlar §ss 0EpTe ST
Sfssdle INsah” aear flpas.

Prove that “the bisector of any angle of a triangle divides the opposite side
in the ratio of the corresponding adjacent sides”.

syebaug / OR

Page 1 of 11 For more questions logon to
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b)

b)

b)

A, B, C omu wvpulisarad Oeradur alLass GadaflgCsreos
Qerampererar. AB = 7 Qs.f., BC = 10 Qs.f., AC =9 Qs d. aafla,

2 ThsMNdT Bahiaamensd simetos.

Three circles with centres at A, B and C touch each other externally. If
AB=7cm, BC =10 cm and AC = 9 cm, find their radii.

(x,-11),(2 3)vppd (4 -1) yfu ydellaer Cr CpraGamigd
S|moEgTeh x-at bEllUS ST,

If(x,=-11),(2,8)and ( 4, - 1) lie on a straight line, find x.

<yebevg / OR
2x-Yy+5=0,x+y+1=0gdu CpistGarfssr Carysd Qarsrgnbd
ystreflfler euflureayb 3x-y + 1 =0 eastip Cpi&aBarlyghe Eoamursab
GswduPb CrtéaGar e swdiur & sredus.
Find the equation of the straight line passing through the point of
intersection of the straight lines 2x-y +5=0and x+y + 1 = 0 and
parallel to the straight line 3x-y+ 1=0. '
2q0ués perd 16 Qe.uf., 2 édsCaramd 57" QeraiL gt GBeLUsES
wp&ECaramsdlen uTlyé arcimes. (tan 61° 30! = 1-842),
Find the area of an isosceles triangle with base 16 cm and vertical
angle 57° (tan 61° 30’ = 1.842).

2ebeug [/ OR
200 F suwpsier o saksar olasssda o dldepha Sz
@oeupissia 2 der sludssllsr Gpéss Garamhsst wepGu 30°, 45°
asflé, @ren® sludsenss GloL Cuusier aTrsmss aan@llysaanyb.
From the top of a lighthouse, the angles of depression of two ships on

either sides of the lighthouse are observed as 30° and 45°. If the height of
the lighthouse is 200 metres, find the distance between the ships.

[ Turn over
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40.

a)

b)

10
18, 138, 17, 21, 18 eep afluylisgré@ Lrpurl(é Caweans sraie,
Find the coefficient of variation of the following data :
16, 13, 17, 21, 18,
2ebevgy / OR
fyren LsoL gED LELLILEAPE. Spsergud Flapédleenbaren
Dapasay srabme :
) useLds wsb 3-p& sTLHEH
) 14 el Quflu e dagpd
i) Gpeop s sl wasdle Cardps
v) useLddr wasdle 6-dr usTéaTyadlac wLEBEEH.

A fair die is rolled. Find the probability of getting (i) 3 on the face of the
die, (ii) a number greater than 1 on the face of the die, (iif) an odd number
on the face of the die and (iv) prime factors of 6 on the face of the die.

u®gl -7 / PART - D
( nfuQuesraer : 20) / ( Marks : 20 )

edliy | Note: 0 @uuegHds Go clamsssr 2 srerer. gablaN® aflenrailgb

@@ wrhp allemésst 2 eiener.
This part contains two questions, each with two

alternatives.

) giQarg oleralgub g Lrpp elamaloas Cate Glsig,
A® darssgnéeh alaLwefsanib.
Answer both the questions choosing either of the
alternatives. 2x10=20

41. a) PQ=45Gsf. OR =55 Ge.f. PR=65 Qs.f. PS =4 Qe semaesh
@erahr. PORS eréip sulL Brp&rb susnys.
Construct a cyclic quadrilateral PORS given PQ =4-5 cm, OR = 5.5 cm,
PR =6G-5 cm. and PS=4 cm
syeveug [ OR
Page 1 of 11 For more questions logon to
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bl PQ=6Gs.d. m<ZR =40° 28f) R by PO & aaquiu@d
GHgsCam iy e femd 4 Qs 1. e @by POR eréirp wé&Garamib cuanys.

Construct a triangle PR such that PQ = 6 cm, m £ R = 40° and altitude
from R to PQ is of length 4 cm.

8 y=x?-4x+ 3@ aaquLb aorhg, SEa apeid x2 -4x+ 3 =0 aep

gineTuT. enl_§ Firés.

Draw the graph of y =x2 - 4x + 3 and hence solve the equation

x2-4x+3=0.

yeboug /| OR

b) prérg ubysmed Qeran® GO pauet Gemigdé @t Blyiu 72 wexf
Cryorgb a1 swuddllliufdlpg. 48 vewl Gppsdle GQsrigdld ey
WQowUTs Hi'u aisoman ubyss Cagmalufb sar aimyuLb apeb &S,
It is estimated that the water tank can be filled in 72 hours if 4 pumps are

used. Find graphically how many pumps would be needed to complete the
work in 48 hours.
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